Liebherr LTM 1030/2 35t
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9,2-30m 8,6/15m 33kN
Hakenflaschen
Traglast  Rollen  Strangzahl = Gewicht Héhe
22,41 3 7 150 kg 975 mm
3,3t - 1 65 kg 673 mm
10310
3150
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Teleskop-Mobilkrane 1



35t Liebherr LTM 1030/2

/ Af Arbeitsbereiche mit Doppelklappspitze
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9,2-30m 6,3x6m 360°

26
* nach hinten




35t Liebherr LTM 1030/2 (B

re= = ) 9
vy === ), 75%
9,2-30m 6,3x4,3m 5,5t 360°
m 9.2 14,4 19,6 24,8 29 30 m
3 26,1 19,1 3
SIS 23,3 19,5 17,1 BiS)
4 20,9 20 17,5 13 4
4,5 19 17,1 15,1 13 9 8,3 4,5
5 16,7 14,8 13,3 12 9 8,3 5
6 12,1 11,5 10,5 9,7 9 8,3 6
7 9.4 8,6 8 7,6 7,5 7
8 7,6 7.2 6,8 6,4 6,3 8
9 6,3 6,2 5,8 5,5 5,4 9
10 52 53 5 4,8 4,7 10
12 3,8 3.9 3.9 3,7 3,6 12
14 29 29 2,8 2,8 14
16 2,3 220 2,2 2,2 16
18 1,8 1,7 1,7 18
20 1.4 1.4 1,4 20
22 1,1 1,1 1,1 22
24 0,9 0,8 24
26 0,6 0,6 26

/S = O 5%

9,2-14,4m freistehend 5,5t 360°/0°
m 9.2 14,4 "
360° 0° 360° 0°
3 10,8 12,2 12,4 3
3,5 9.4 10,9 8,5 11,1 3,5
4 8 9,7 7.8 9.9 4
4,5 6,7 8,8 6,8 9 4,5
5 5,7 7.9 6 8,1 5
6 4,2 6,1 4,5 6,4 6
7 Bio) 5,1 7
8 2,7 4,1 8
9 2,2 3.4 9
10 1,7 2,9 10
12 1 2,1 12
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